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Bs 8 1T B 266 277 299 576 | T » WEHET5 T H 538 575 554 1,12908 BT 7 T H 1,280 1,599 1,429 3,028 |4l AKET3 T H 210 254 232 486
w2 T H 374 378 384 762| T & WEET6 T H 395 399 419 818|%r BT 8 T H 543 652 643|  1,295|/h | 4,637 5,150| 5,180 10,330
B W3 T H 289 335 328 663 &t 9,500 10,239 10,099| 20,338|#r BT 9 T H 1,330 1,392 1,176 2,568 (%1 T H 99 104 102 206
Ta4ET LT B 156 151 154 305 |1k 1= 606 653 669 1,322(KJSET1 T H 116 100 101 201| —fRE2T H 327 377 385 762
a5y ET2 T A 89 74 73 147|% LWL T H 328 409 385 T94|K LT 2 T H 485 524 506| 1,030| “{%E3T H 273 298 316 614
a4 EF3 T A 126 151 169 320(% W72 T H 608 668 658 1,326 il 9,415| 10,755| 9,828 20,583 " f%RB4T H 125 117 127 244
£ L HT 274 250 266 516(# |- T3 T H 1,533 1, 465 1,415 2,880 BT 1 T H 807 869 846| 1,715 " {REST H 91 106 104 210
FN HT 440 433 440 873|HF L WT 4 T H 769 777 748| 1,525\ 0BT 2 T H 307 376 341 TR #+ 1T H 70 64 72 136
fif my 213 214 218 432|k M 1 T H 797 908 840 1, 748({r 30 BT 3T H 239 261 257 5183k 2 T H 119 130 134 264
1k HT 139 115 131 246|k 4 2 T H 334 392 418 BLO[ L T 4 T H 759 724 708| 1,432|3R H3 T H 121 125 109 234
# K T 176 208 207 415k 4 3 T H 752 875 920 1,795 ({30 BT 5T H 735 731 722 1,453 |4 & A mT 178 160 185 345
5 W] 433 442 461 903 |4 e 470 446 516 962 [FT L T 6 T H 1,228 1,277 1,291 2,568 | & 1 T H 54 45 44 89
K o WE HT 487 515 523  1,038|4& 2 447 525 537| 1,062\ 0BT 7T H 1,122 1,050 1,131 2,181|# & 2 T H 67 65 68 133
W b oE 299 291 297 588K B 1T H 285 323 322 645 37 0 BT 8 T H 812 866 732  1,598|f1 & Il 40 61 68 129
K H o HT 515 537 534 1,071 K ¥ F2 T H 260 343 332 6753 L BT 9 T H 949 831 939|  1,770|/h aHl 1,564 1,652 1,714 3,366
HiafE1T B 196 193 215 4084 SF 1 T H 572 792 741 1,533 ({30 ET10T H 909 760 771 1,531|= 1T A 329 251 265 516
HiafE2T B 256 272 275 547|454 SF 2 T H 147 200 196 396 it 7, 867 7,745 7,738| 15,483|= [ 2 T H 87 96 89 185
HiafE3T B 303 362 354 7164 SF 3 T H 380 504 450 954|f% ¥ 1 T H 191 200 215 415\ M 3 T A 206 153 149 302
i 5, 031 5,198| 5,328| 10,526|4 ¢ 4 T H 611 767 720  1,487|# #% 2 T H 1,048 1,305 1,236 2,541/ K1 T H 86 110 86 196
B KET 1T H 228 265 260 5254 SF 5 T H 511 631 664 1,29 | % 3 T H 364 425 439 864 |/~ K2 T H 44 53 49 102
B KET2 T H 361 400 380 780 il 9,410| 10,678| 10,531 21,209(4 # 1 T H 1, 369 1,442 1,504| 2,946/~ K3 T H 176 196 211 407
B KET3 T H 210 251 255 506|3 & MfE1 T H 480 423 507 9304 # 2 T H 1,045 1,087 1,143 2,230/ K4 T H 221 161 222 383
Eil1TEH 675 629 655 1,284|3 F M2 T H 827 775 805 1,580(4 # 3 T H 871 970 905 1,875/~ & AR5 T H 77 78 87 165
EW2TH 735 837 847 1,684 (M FH HE3 T H 1,122 1,085 1,109 2,194|4 H 4 T H 0 0 0 0|2 R 1T A 272 170 245 415
EiM3TH 403 499 490 989 #H M4 T H 768 698 667 1,365|4 3 5 T H 178 60 150 21012 R 2T A 250 282 268 550
Ei4T B 794 811 921 1,732\ § #5 7T H 1,033 949 996 1,945 it 5, 066 5, 489 5,692 11,081[H R 3 T H 231 181 206 387
Ei5TH 532 526 532 1,058 |3 & #E6 T H 395 431 404 835 /) &t 54,139| 57,705| 56,891 114,596 /) i 1,979 1,731 1, 877 3,608
EileT H 222 218 253 ATLAR » A1 T H 395 412 416 828\ 1 T H 350 408 368 76( A 1T H 216 164 232 396
EW7TH 490 508 438 9461 » M2 T H 771 645 774 L4192 T H 418 457 461 918|pk A2 T H 221 225 160 385
E 8T H 272 300 292 592|fifi [d BT 1 T H 331 395 380 7500M 3 T H 451 519 494 1,013[p A 3 T H 101 121 110 231
EioT H 4 4 4 8| [ mT 2 T H 725 802 790 1,592(Fn HAET1T H 208 239 238 477\ A 4T H 59 53 50 103
KHEE1LTH 307 326 323 649 |fifi [d BT 3 T H 571 589 537 1,126(F1 HET2 T H 295 308 337 645(p A 5 T H 76 70 69 139
K HEE2T H 326 298 299 597 |fifi [d BT 4 T H 426 397 390 787|HE 5 1 T H 162 206 191 397\ A6 T A 37 44 38 82
K HEE3T H 319 389 353 742 it 7,850 17,601 7,775 15,376 | # 2 T H 170 184 212 396|pk A7 T A 67 72 73 145
K HEE4T H 308 372 355 278 BT 1 T H 1, 206 1,407 1,311 2, T18|HF 4% 3 T H 186 217 208 425\ A8 T A 92 110 83 193
K HEEST H 310 341 348 689(%r BT 2 T H 841 968 846 1,814 |HF # 4 T H 228 260 247 507 [/ 2t 869 859 815 1,674
T WET1 T H 650 707 701 1,408[8r B 3 T H 1,555 1, 650 1,519  3,169|#E 4 5 T H 535 643 661 1,304 [H & fr & & 9,049 9,392 9,586 18,978
T HEET2 T H 545 593 573| 1,166 W] 4 T H 733 797 788| 1,585|HF # 6 T H 551 645 584|  1,229|& 2| 63,188 67,097| 66,477| 133,574
T4 WEHT3 T H 400 485 414 899(¥r M 5 T H 1,228 1,542 1,390 2,932t AHT1 T H 366 410 408 818
T4 WEHT4 T H 476 506 433 939(%r BT 6 T H 98 124 119 243k KB 2T H 507 400 539 939




